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There are eight members in a family. S
is the father of U. Q is the father of A. G
is married to S. T is the mother - in - law

of G. M is the granddaughter of Q. T has
only 2 children. Y is the son in law of Q.

TCGHRNATLE MQFA TN I TH
Fad 2 99 g1 Y, Q & &G gl U 3R
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There are eight members in a family. S
is the father of U. Q is the father of A. G
is married to S. T is the mother - in - law
of G. M is the granddaughter of Q. T has
only 2 children. Y is the son in law of Q.
U and A are cousins.

How many male members are there in
the family?

a) |

b) 3

c) 4

d) 5

e) Either 3 or 4
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There are eight members in a family. S
is the father of U. Q is the father of A. G
is married to S. T is the mother - in - law
of G. M is the granddaughter of Q. T has
only 2 children. Y is the son in law of Q.
U and A are cousins.

How is U related to T?

a) Grand Daughter

b) Grandson

c) Son

d) Daughter

e) Cannot be determined
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There are eight members in a family. S
is the father of U. Q is the father of A. G
is married to S. T is the mother - in - law
of G. M is the granddaughter of Q. T has
only 2 children. Y is the son in law of Q.
U and A are cousins.

Who is the wife of Y?

a) A

b) U

c) T

d) G

e) S
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Statements :
R<SS<LI>]>K<L=M

Conclusions :
. S=K
II. I1>R

a) Only conclusion | is true.

b) Only conclusion Il is true.

c) Either conclusion | or Il is true.

d) Neither conclusion | nor Il is true.
e) Both conclusions | and Il are true.



n Statements :
K<D,H>R<P<K

Conclusions :
. R<D
1. H>K
. D>P

a) Only conclusion Il is True

b) Either conclusion I and Il is True
c) Only conclusion | is True

d) Neither conclusion | nor Il is True
e) Only conclusions | and lll are True
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Statements :
U<VW>X2>YY=V

Conclusions :
. X>V
1. U<W

a) Both | and Il are true
b) None is true

c) Only lis true

d) Only Il is true

e) Either |l or Il is true
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Statements :
X>P<Z,P<)=0>M

Conclusions :
. P>M
II. X<

a) Only lis true

b) Only Il is true

c) Both | and Il are true
d) Neither I nor Il is true
e) Either |l or Il is true
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The weight of six persons A, B, C, D, E
and F is measured. All of them have
different weights. D is lighter than only
one person. E is heavier than B but
lighter than F. A is heavier than F. Person
B is not the lightest one. The person
which is the third lightest has a weight
of 73 kg and the person which is the
heaviest is of 96 kg.

oe <gfedal A, B, C, D, E 3R F &1 do
AT ST g1 o7 Wl &1 gl 3Heldl-
el gl D ad U& Afdd ¥ §oal ol
E,BY ST § ofheT F& goT ¢| AF &
A 81 SAFT B A §ohl oial ¢l S
Afed dIET Ha® godT § 3HET ol
73 fraameA § 3R oY cufed wed o

g 3UFT Joid 96 TFaH Bl
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The weight of six persons A, B, C, D, E
and F is measured. All of them have
different weights. D is lighter than only
one person. E is heavier than B but
lighter than F. A is heavier than F. Person
B is not the lightest one. The person
which is the third lightest has a weight
of 73 kg and the person which is the
heaviest is of 96 kg.

Which of the following is the heaviest
one?

a) A

b) F

c) E

d) C

e) D
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The weight of six persons A, B, C, D, E
and F is measured. All of them have
different weights. D is lighter than only
one person. E is heavier than B but
lighter than F. A is heavier than F. Person
B is not the lightest one. The person
which is the third lightest has a weight
of 73 kg and the person which is the
heaviest is of 96 kg.

Who is the second lightest?

a) A

b) D

c) E

d B

e) F
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The weight of six persons A, B, C, D, E
and F is measured. All of them have
different weights. D is lighter than only
one person. E is heavier than B but
lighter than F. A is heavier than F. Person
B is not the lightest one. The person
which is the third lightest has a weight
of 73 kg and the person which is the
heaviest is of 96 kg.

What could be the weight of D?

a) 97 Kg

b) 85 Kg

c) 73 Kg

d) 62 Kg

e) None of these
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How many pairs of digits in the number
28462742 have as many numbers
between them as in the series of natural
numbers both in backward and forward
directions?

HEAT 28462742 # 3 & fhdal I7aAl
& i et I IS g feemat A 3aeh
g §EgIT g foael grpfas weamst &
sS@er #H gl 87

a) Six

b) Seven

c) Five

d) More than seven

e) None of these
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‘Naina bought dream catcher’ is written as ‘ani rad chr ogt’,
‘they bought dream house’ is written as ‘ogt yet rad ose’,

‘everybody have a dream house’ is written as ‘Isn avn voy ose rad’

‘Naina have a clinic’ is written as ‘cnc ani Isn avn’.

What is the code for ‘catcher’ in the given code
language?

a) Yet
b) Chr
c) Ogt
d) Ani
e) rad
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‘Naina bought dream catcher’ is written as ‘ani rad chr ogt’,
‘they bought dream house’ is written as ‘ogt yet rad ose’,
‘everybody have a dream house’ is written as ‘Isn avn voy ose rad’

‘Naina have a clinic’ is written as ‘cnc ani Isn avn’.

If ‘everybody have dream’ is coded as ‘rad avn
voy’, then what does ‘Isn’ mean in the given
code language?

a) A

b) Have

c) They

d) Clinic
e) catche
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‘Naina bought dream catcher’ is written as ‘ani rad chr ogt’,
‘they bought dream house’ is written as ‘ogt yet rad ose’,
‘everybody have a dream house’ is written as ‘Isn avn voy ose rad’

‘Naina have a clinic’ is written as ‘cnc ani Isn avn’.

Which of the following is the code for ‘Naina’
in the given code language?

a) Cnc
b) Ani
c) Avn
d) Yet
e) voy

uf @Reasoningbybasantsir
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Maria starts from point A, walks 6 m north and
reaches point B. At point B, she turns right and
reaches point C after walking 4 m. After
reaching point C, she turns right and walks 3 m
to reach point D. Further, she walks to point E
which is 8 m to the west of point D. She further
goes 5 m south to point F, turns left and walks
8 m to reach point G.

AT fag A & U &Il 8, 6 Hiex 3T M
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Maria starts from point A, walks 6 m north and
reaches point B. At point B, she turns right and
reaches point C after walking 4 m. After
reaching point C, she turns right and walks 3 m
to reach point D. Further, she walks to point E
which is 8 m to the west of point D. She further
goes 5 m south to point F, turns left and walks
8 m to reach point G.

What is the shortest distance between point E
and B?

a) 4m
b) 5m
c) 3m
d) 6m
e) 8m
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Maria starts from point A, walks 6 m north and
reaches point B. At point B, she turns right and
reaches point C after walking 4 m. After
reaching point C, she turns right and walks 3 m
to reach point D. Further, she walks to point E
which is 8 m to the west of point D. She further
goes 5 m south to point F, turns left and walks
8 m to reach point G.

If a person goes 2 m South from point A, what
is the distance between the current position of
person and point F?

a) 4m
b) 5m
c) 3m
d) 6m
e) 8m
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Maria starts from point A, walks 6 m north and
reaches point B. At point B, she turns right and
reaches point C after walking 4 m. After
reaching point C, she turns right and walks 3 m
to reach point D. Further, she walks to point E
which is 8 m to the west of point D. She further
goes 5 m south to point F, turns left and walks
8 m to reach point G.

What is the direction of Point A with respect
to point G?

a) North

b) West

c) South

d) East

e) None of these
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Statements:
Only a few apples are good
Some apples are not rotten

Conclusions:
I. Some rotten being good is a possibility
Il. Some apples are not good

Only conclusion | follows.

Only conclusion Il follows.

Both the conclusion follows
Neither conclusion | nor 1l follows
None of the conclusion follows

moONwp
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Statements:
Only potato is tomato.
Some pumpkin are potato

Conclusions:

I.  Some tomato being pumpkin is a
possibility

Il. Some pumpkin being potato is a
possibility

Only conclusion | follows.

Only conclusion Il follows.

Both the conclusion follows
Neither conclusion | nor 1l follows
None of the conclusion follows

moONwp
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Statements:
All homosapiens are bravell.
Only a few homosapiens are crazy

Conclusions:
I. Some homosapiens are not crazy
Il. All brave being crazy is a possibility

A. Only conclusion | follows.

B. Only conclusion Il follows.

C. Both the conclusion follows

D. Neither conclusion | nor 1l follows
E. None of the conclusion follows



IBPS 2024 Practice

' @Reasoningbybasantsir

Statements:

Some preparation are not good
Only a few good are wise

No wise is preparation

Conclusions:

I.  Some good are not wise is a possibility

Il. No preparation is wise

Ill. Some preparation are good is a possibility

Neither | nor Il follows

Only conclusion Ill follows

All follows

Both conclusion Il and lll follows
Only Il and either | or lll follow

moONwp
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Statements:

Few holders are share

Only a few accounts are bank
No bank is share

Conclusions:

l. All share can be holders

Il. Some bank is not share

lll. Some accounts are not bank is a
possibility

Only conclusion Ill follows

Only conclusion | and Il follows
Both conclusion | and lll follows
Only conclusion Il follows

Only conclusion | follows

moOowp)p
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If in the word COMBINATION, each letter which
is comes after L in the English alphabet is
replaced by the previous letter and each letter
which is comes before L in the English alphabet is
replaced by the next letter and then all the letters
are arranged in alphabetical order from left to

right. Which letter is seventh from the right?
znga COMBINATION 2rsg #, 313l avigm?-n AL
& d1¢ A I TS HeW F NS 3HeW F 98



How many such pairs of digits are there
in the number 4275163908 each of which
has as many digits between them in the

number, as they have in the Number
series (forward and backward)"

HEAT 4275163908 ﬁw_chT ¥ HH
7 ¢ oA @ 93@® F d= 3aa z?r
v § Baa & 31 a"lir TEAT HEdl A
gla § (3mr 3R RD)?

a) Four

b) Five

c) Two

d) Three

e) More than five

<7 @Reasoningbybasantsir
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If it is possible to make a meaningful word with the third, fifth, ninth,
and tenth letters of the word “PERSEVERANCE” which of the
following will be the second letter from the right end of that newly
formed word? If more than one such word can be made, give M as the

answer and if no such word can be made, give Y as the answer.

gfe vs “PERSEVERANCE” & dI®R, Uied, e 3TR a8 37e’i ¥ Uk
YUY 9768 TAET HWS B, A1 AEAfeTiRad § € &hi9 €97 3§ 7Y 97 I8 &
TR 31T | AW AW EO? AT 36 TR o Teh § ATeeh 9163 o Hehd 3,
A IR ETH M < T i AT hIg e T3l THET AT AhdT 8, T I
FEAHY 2

1)
)
R))
4)

=2 R <
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There are eight friends ), K, L, M, N, O, P, and Q who are sitting in a
straight line but not necessarily in the same order. Some of them are
facing south while some are facing north. Immediate neighbors of K
facing opposite directions to each other. People sitting at the extreme
ends face the opposite directions. M faces south direction. Q does not
sit near to L.L sits fourth to the left of N. N sits at one of the extreme
ends of the line. Both the immediate neighbors of L facing north
direction. K sits second to the left of P. P is not an immediate neighbor
of L. Neither P nor ] sits at the extreme ends of the line. ) faces the
opposite direction to M. Both the immediate neighbors of ] facing
north direction. Q sits second to the left of O.Immediate neighbors of
M face opposite dlrectlons

ﬁ-arj,KLMNOP Q¥ o vw Wil @r A 4% ¥ <AfhaT
m‘&a%’r siﬁamﬁalm#waﬂwmwa?rm%mﬁ:
$S H 7A@ I P A T K& Pedan g21faat 1 79 &
%qﬂ?rﬁamﬁ#%lsiﬁﬂw“%—qﬁ?mmmﬁqﬂa QT
$ T §1 M FT 7AW gfEor ey A 3R B Q,L ¥ fawe At dar %lL,
NF T3 ¥ 9l Taa W dor T Nqﬁ-?ra:ﬁra"rwaiﬁwquw
P

%’wr

b
of
3
d
3
=
P
oai
4
4

| @Reasoningbybasantsir ror gv d=r T M F PAFcan =Rat &1

A
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There are eight friends ), K, L, M, N, O, P, and Q who are sitting in a
straight line but not necessarily in the same order. Some of them are
facing south while some are facing north. Immediate neighbors of K
facing opposite directions to each other. People sitting at the extreme
ends face the opposite directions. M faces south direction. Q does not
sit near to L. L sits fourth to the left of N. N sits at one of the extreme
ends of the line. Both the immediate neighbors of L facing north
direction. K sits second to the left of P. P is not an immediate neighbor
of L. Neither P nor ] sits at the extreme ends of the line. ] faces the
opposite direction to M. Both the immediate neighbors of ] facing
north direction. Q sits second to the left of O.Immediate neighbors of
M face opposite directions.

Which of the following pairs represents seated at the extreme ends of
the line?

() M\,N

(b) Q,L

() Q,N

(d) J,L

(e) LK
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There are eight friends ), K, L, M, N, O, P, and Q who are sitting in a
straight line but not necessarily in the same order. Some of them are
facing south while some are facing north. Immediate neighbors of K
facing opposite directions to each other. People sitting at the extreme
ends face the opposite directions. M faces south direction. Q does not
sit near to L.L sits fourth to the left of N. N sits at one of the extreme
ends of the line. Both the immediate neighbors of L facing north
direction. K sits second to the left of P. P is not an immediate neighbor
of L. Neither P nor ] sits at the extreme ends of the line. ] faces the
opposite direction to M. Both the immediate neighbors of ] facing
north direction. Q sits second to the left of O. Immediate neighbors of
M face opposite directions.

How many persons are seated between M and N?

(a) Four

(b) More than four

(c) One

(d) Three

(e) Two
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There are eight friends ), K, L, M, N, O, P, and Q who are sitting in a
straight line but not necessarily in the same order. Some of them are
facing south while some are facing north. Immediate neighbors of K
facing opposite directions to each other. People sitting at the extreme
ends face the opposite directions. M faces south direction. Q does not
sit near to L.L sits fourth to the left of N. N sits at one of the extreme
ends of the line. Both the immediate neighbors of L facing north
direction. K sits second to the left of P. P is not an immediate neighbor
of L. Neither P nor ] sits at the extreme ends of the line. ] faces the
opposite direction to M. Both the immediate neighbors of ] facing
north direction. Q sits second to the left of O. Immediate neighbors of
M face opposite directions.

If each of the persons is made to sit in alphabetical order from right to
left the positions of how many will remain unchanged as compared to
the original seating arrangement?

(a) One

(b) Two

(c) Four

(d) None

(e) Three
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There are eight friends ), K, L, M, N, O, P, and Q who are sitting in a
straight line but not necessarily in the same order. Some of them are
facing south while some are facing north. Immediate neighbors of K
facing opposite directions to each other. People sitting at the extreme
ends face the opposite directions. M faces south direction. Q does not
sit near to L. L sits fourth to the left of N. N sits at one of the extreme
ends of the line. Both the immediate neighbors of L facing north
direction. K sits second to the left of P. P is not an immediate neighbor
of L. Neither P nor ] sits at the extreme ends of the line. ] faces the
opposite direction to M. Both the immediate neighbors of ] facing
north direction. Q sits second to the left of O.Immediate neighbors of
M face opposite directions.

Who amongst the following sits exactly between O and K?

(a) N

(b) Q

(c) P

(d)L

(e) M



“ There are eight friends ), K, L, M, N, O, P, and Q who are sitting in a
straight line but not necessarily in the same order. Some of them are
facing south while some are facing north. Immediate neighbors of K
facing opposite directions to each other. People sitting at the extreme
ends face the opposite directions. M faces south direction. Q does not
sit near to L.L sits fourth to the left of N. N sits at one of the extreme
ends of the line. Both the immediate neighbors of L facing north
direction. K sits second to the left of P. P is not an immediate neighbor
of L. Neither P nor ] sits at the extreme ends of the line. ] faces the
opposite direction to M. Both the immediate neighbors of ] facing
north direction. Q sits second to the left of O. Immediate neighbors of
M face opposite directions.

Who amongst the following sits third to the left of P?

(2) )

(b) M

(c) L

(d K

(e) None of these

' @Reasoningbybasantsir
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Directions- Study the following information
carefully and answer the questions given
below.

Eight persons A, B, C, D, E, F, G, and H were
born on the same date and same month of
different years viz. 1948, 1953, 1956, 1959, 1964,
1966, 1972, and 1981 but not necessarily in the
same order. The calculation of their age is
based on the current year 2020. Two persons
were born between the one who was born in
an odd-numbered year and the one who was
born immediately before B. The number of
persons born before B is the same as the
number of persons born after H. The difference
between the ages of A and G is 5. Three
persons were born between G and F, who was
not the youngest. C was not born in an odd-
numbered vear and was born after D. E was
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fder- fArafaf@a IaR 1 Caeqas sreaaeT
HIT 3 AT T 1w yeat & 381 oA

TS IfFaar A,B,C, D, E, F, G, 3iIX H T SI+A
faffe=r asf 1948, 1953, 1956, 1959, 1964,

. & o AT gfFaat &1 SeA
g3 47| C &FT A U AYH HE&AT Ik 9§ # oIgl
&7 4T 3R 3°FT o7 D & I &3 ATl E FT
SeH C % qid 916 wiel gam 41l °
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Who was born in the year 1972?
1972 A fHEHT ST FIHT 4T?

1) A
2) C
3) E
4) H
5) G

' @Reasoningbybasantsir
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Who was born in the year 1972?
1972 A fHEHT ST FIHT 4T?

1) A
2) C
3) E
4) H
5) G

<Z @Reasoningbybasantsir
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What is the age difference between C
and F?

C 3R F 1 3 & o< 7 3T F41 32

1) 12

2) 20
3) 18
4) 13
5) 33



IBPS 2024 Practice

What is the age difference between C
and F?

C 3R F 1 3 & o< 7 3T F41 32

1) 12

2) 20
3) 18
4)13
5) 33

<Z @Reasoningbybasantsir
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E was born in which year?
E & sied f&a a¥ & gam a7

1) 1953
2) 1966
3) 1964
4) 1981
5) 1972
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E was born in which year?
E & sied f&a a¥ & gam a7

1) 1953
2) 1966
3) 1964
4) 1981
5) 1972
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What is the sum of age of A and G?
A 3R G Y 3T T ARTH FAT 52

1) 10

2) 117

3) 102

4) 87

5) None of these / SdH & &S gl
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What is the sum of age of A and G?
A 3R G Y 3T T ARTH FAT 52

1) 10

VARV

3) 102

4) 87

5) None of these / SdH & &S gl
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Who was born between B and C?

BﬁtC%aﬁaﬁﬁmmaﬁrgsnm?

1) G
2) H
3) A
4) D
5) E
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Who was born between B and C?

Bsﬁtc$aﬁaﬁﬁm$rm§3nm?

1) G
2) H
3) A
4) D
5) E
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Eight persons are sitting around a circular table. Some of them are
facing inside the centre while some are facing outside the centre. C
sits third to the left of A. G sits second to the left of F. E sits third to
the right of G. Both E and H are facing same direction as C. D sits
opposite to H and H is not an immediate neighbor of G who is facing
opposite direction of F. C is not an immediate neighbor of D. B
neither sits opposite to E nor F. Both C and A are facing in the same
direction. A is facing inside the centre of the circle. While both B and
D are facing same direction to each other but opgosite to G.

TS ST T<h Uk TICITEhR W oh IRI 3T 93 1 STH § 6 ol UE hs
37X Y 3TN & STarfeh D T T hg o FTe Al 3R 2 C, A F T &
1O T W R G, F & 91 § g6 T W 1 G H1AE F &t fowla
o Y e R C, D 1 Fehead gt T R BAAE SMRARF &

| A HTHE T

]
|
:
E}
!
2|
5
4
:
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Eight persons are sitting around a circular table. Some of them are
facing inside the centre while some are facing outside the centre. C
sits third to the left of A. G sits second to the left of F. E sits third to
the right of G. Both E and H are facing same direction as C. D sits
opposite to H and H is not an immediate neighbor of G who is facing
opposite direction of F. C is not an immediate neighbor of D. B
neither sits opposite to E nor F. Both C and A are facing in the same
direction. A is facing inside the centre of the circle. While both B and
D are facing same direction to each other but opposite to G.

Who sits second to the left of G?

() F
2) E
(3) H
(4) D
) A
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Eight persons are sitting around a circular table. Some of them are
facing inside the centre while some are facing outside the centre. C
sits third to the left of A. G sits second to the left of F. E sits third to
the right of G. Both E and H are facing same direction as C. D sits
opposite to H and H is not an immediate neighbor of G who is facing
opposite direction of F. C is not an immediate neighbor of D. B
neither sits opposite to E nor F. Both C and A are facing in the same
direction. A is facing inside the centre of the circle. While both B and
D are facing same direction to each other but opposite to G.

What is the position of D with respect to A?

(1) Fourth to the left

(2) Second to the left

(3) Immediate to the left
(4) Immediate to the right
(5) Second to the right
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Eight persons are sitting around a circular table. Some of them are
facing inside the centre while some are facing outside the centre. C
sits third to the left of A. G sits second to the left of F. E sits third to
the right of G. Both E and H are facing same direction as C. D sits
opposite to H and H is not an immediate neighbor of G who is facing
opposite direction of F. C is not an immediate neighbor of D. B
neither sits opposite to E nor F. Both C and A are facing in the same
direction. A is facing inside the centre of the circle. While both B and
D are facing same direction to each other but opposite to G.

Four of the following five are alike in a certain way and so form a
group. Which is the one that does not belong to that group?

(1) H
2) E
) F
4 A
o) G
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Eight persons are sitting around a circular table. Some of them are
facing inside the centre while some are facing outside the centre. C
sits third to the left of A. G sits second to the left of F. E sits third to
the right of G. Both E and H are facing same direction as C. D sits
opposite to H and H is not an immediate neighbor of G who is facing
opposite direction of F. C is not an immediate neighbor of D. B
neither sits opposite to E nor F. Both C and A are facing in the same
direction. A is facing inside the centre of the circle. While both B and
D are facing same direction to each other but opposite to G.

Which of the following will come in place of the question mark (?)
based upon the given seating arrangement?

HF GD EB ?

(1) CH
2) EA
(3) FH
e
(5) GH
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Eight persons are sitting around a circular table. Some of them are
facing inside the centre while some are facing outside the centre. C
sits third to the left of A. G sits second to the left of F. E sits third to
the right of G. Both E and H are facing same direction as C. D sits
opposite to H and H is not an immediate neighbor of G who is facing
opposite direction of F. C is not an immediate neighbor of D. B
neither sits opposite to E nor F. Both C and A are facing in the same
direction. A is facing inside the centre of the circle. While both B and
D are facing same direction to each other but opposite to G.

Which of the following is true regarding C?

(1) C is an immediate neighbor of E
(2) C does not face the centre
(3) C sits exactly between H and D

(4) A sits third to the left of C
(5) None is true
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Six people P, Q, R, S, T and U are to be allotted a room in a
hotel. There are six rooms numbered 311, 312, 313, 314, 315
and 316 (from left to right) and one person is to be allotted
one room. Moreover, P cannot be in the room immediately
to the left or right of Q. R must be in a room immediately to
the left of S’s room. U cannot be in room no. 316. P's room
number is 315.
BE AR P, Q, R, S, T 3 U R Ueh EIceA H Ueh SHALT 3T fed
foRaT ST 2| B WY shAieR 311, 312, 313, 314, 315 3R 316
(aTq@rW) %ﬁ'ﬂg—qﬁsﬁ Ueh SHTRT STTETEA TeRaT T 2
3ok FATT 9T T 2T ATl ThAY | TS0 8l
1=|T=h—cm R &Y s%am:{é;a%ﬁanﬁ IR ATA HA H ET AT(RTN

AT R a1 H T8 @ Tohd. 316. P o1 HHIT a7 315 B
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Six people P, Q, R, S, T and U are to be allotted a room in a hotel.
There are six rooms numbered 311, 312, 313, 314, 315 and 316 (from
left to right) and one person is to be allotted one room. Moreover, P
cannot be in the room immediately to the left or right of Q. R must
be in a room immediately to the left of S’s room. U cannot be in
room no. 316. P's room number is 315.

Who among the following cannot be in room no. 312?

(1) Q
2) P
(3) R
4 S
U
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Six people P, Q, R, S, T and U are to be allotted a room in a hotel.
There are six rooms numbered 311, 312, 313, 314, 315 and 316 (from
left to right) and one person is to be allotted one room. Moreover, P
cannot be in the room immediately to the left or right of Q. R must
be in a room immediately to the left of S’s room. U cannot be in
room no. 316. P's room number is 315.

If S is in room no. 313, then R should be in which room?

(1) 312
(2) 311
3) 314
CRIE
(5) None of these
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Six people P, Q, R, S, T and U are to be allotted a room in a hotel.
There are six rooms numbered 311, 312, 313, 314, 315 and 316 (from
left to right) and one person is to be allotted one room. Moreover, P
cannot be in the room immediately to the left or right of Q. R must
be in a room immediately to the left of S’s room. U cannot be in
room no. 316. P's room number is 315.

Except P, which of the following person's place is certain?

(1) R
2)Q
3)S
4HT
U
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Mittal Sen has three children — Sheetal, Kamal and Ashish. Ashish
married Moni, the eldest daughter of Sunder. Sunder married his
youngest daughter to the eldest son of Sharman. Sharman’s
daughter Shashi has only one brother Anu. Sunder has two more
children, Rishabh and Vani, both are elder to their sister Viena. Sam
and Ajay are sons of Ashish and Moni. Rashi is the daughter of Anu.

forer 99 & i o=2 ® - oftdet, det 3R STTeiiy) Soiy
maﬁaﬁﬁﬁﬁmﬁﬁlwﬁmwméﬁaﬁWW
% T A W 1| IR hT T2 IV T UH & WIS 317 2| Hew o &Y i
a#zr%,waﬁiamﬁ,aﬁﬁaﬁm%wﬁa%%lﬁﬂaﬁ?m
ST TR | % A 21 AT 317 kY I
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Mittal Sen has three children — Sheetal, Kamal and Ashish. Ashish
married Moni, the eldest daughter of Sunder. Sunder married his
youngest daughter to the eldest son of Sharman. Sharman’s
daughter Shashi has only one brother Anu. Sunder has two more
children, Rishabh and Vani, both are elder to their sister Viena. Sam
and Ajay are sons of Ashish and Moni. Rashi is the daughter of Anu.
How is Rashi’s father related to Kamal?

(1) Brother-in-law

(2) Husband

(3) Father

(4) Sister-in-law

(5) Can’t be determined
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Mittal Sen has three children — Sheetal, Kamal and Ashish. Ashish
married Moni, the eldest daughter of Sunder. Sunder married his
youngest daughter to the eldest son of Sharman. Sharman’s
daughter Shashi has only one brother Anu. Sunder has two more
children, Rishabh and Vani, both are elder to their sister Viena. Sam
and Ajay are sons of Ashish and Moni. Rashi is the daughter of Anu.
How is Sam related to Moni’s father?

(1) Son-in-law

(2) Grandson

(3) Son

(4) Nephew

(5) None of these
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Mittal Sen has three children — Sheetal, Kamal and Ashish. Ashish
married Moni, the eldest daughter of Sunder. Sunder married his
youngest daughter to the eldest son of Sharman. Sharman’s
daughter Shashi has only one brother Anu. Sunder has two more
children, Rishabh and Vani, both are elder to their sister Viena. Sam
and Ajay are sons of Ashish and Moni. Rashi is the daughter of Anu.
How many children does Sunder have?

(1) One

(2) Two

(3) Three

(4) Four

(5) None of these
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Mittal Sen has three children — Sheetal, Kamal and Ashish. Ashish
married Moni, the eldest daughter of Sunder. Sunder married his
youngest daughter to the eldest son of Sharman. Sharman’s
daughter Shashi has only one brother Anu. Sunder has two more
children, Rishabh and Vani, both are elder to their sister Viena. Sam
and Ajay are sons of Ashish and Moni. Rashi is the daughter of Anu.
Ashish is related to Mittal in the same way as Sam is related to
Ashish based on the given arrangement. Following the same pattern

Anu is related to which of the following?
(1) Kamal

(2) Ajay

(3) Sharman

(4) Rishabh

(5) None of these
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In a certain code ‘AMBITION’ is written as
‘XXQAO0GQOD’. How would ‘ATTACHED’be written in
that code?

Uk IS g H 'AMBITION' &t 'XXQAOGQD' feran
ATAT 21 39 IS H 'ATTACHED' &8 fer@r sromm?

(1) NNQJGXXD
(2) NNPJGYXD
(3) NMPJGXXD
(4) NNPJGXXD
(5) None of these
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